BREMHRRETEHIE (FRMS) hik TH6E 4R 158 (A)

Frx

o & B &t E = & b fE z B £ B
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() ART=®) (M) (M) (M) (kg)

WA 23.1 ERE 21.4 648 — 540 15
IZALA 29.1 BRE 0.1 — - - PR
IZALCA E & 20.8 3,240 — 3,024 10 vay M
ZIES5 1.9 BRE 0.1 1,404 864 864 2l A M
ZIES5 5 1.5 3,456 — 3,294 0] A L
fzIFDC 0.4 BERE 0.4 — 324 - 1
[E<E0LY 56.6 ERE 442 1512 1,296 1,188 150 A 6
HTE 1.7 2 1.4 1,728 1,296 1,296 4 A L
ZEDIE 45 2 [ 2.9 — 1512 — 4 A L
FrRY 104.3 ERE 101.4 - 1,080 - 0] A 8
IE5NAZES 2.3 2 [ 1.2 3,726 2916 2,592 6] A L
hE 7.2 BRE 45 1,080 1,080 972 3l A LL
h= E 15 0.3 1,188 — 1,080 3 vay L
_hE 1.2 = B 0.7 3,240 2,592 2,268 3 M
SE 0.1 BRE 0.1 1,188 302 302 1
125 3.0 =l 1.3 3,510 2,862 2,700 5
+)L)— 1.7 2 [ 0.5 3,456 — 3,240 0] A L
FTRINGHR 1.4 N 1.0 205 205 200 0.1 vay M
Hh)o257—
Joyal)— 16.6 i 25 3,240 2916 2,808 10 < 20
LAR 18.7 BRE - - - PR
LA E & 15.3 2,700 778 778 0] A 12
FoTHA 1.4 2 [ 0.7 1,458 — 1,053 3l A L
=p5Y 18.0 BRE 13.6 2,700 1,728 1,620 5/ A L
=p5Y ElG 45 2,916 2916 2,700 5] A M
ANESSES) 224 —9o 21.8 — 2,646 — 10 vay 5
A 4.1 BRE 0.3 — 1,944 — 4f A 3L
Y B X 3.8 3,780 1,620 1,620 5] A L
k< 11.6 BRE 7.4 1512 1,296 1,296 4f A 24
e N 4.0 — 1,404 — 4] vay 20
I=kTh 3.9 BRE 2.8 151 119 108 02 A M
= =I5 0.9 151 — 124 02| A M
E—<> 7.2 BERE 6.8 5,832 5,184 3,888 7.8 A M
E53ACL 0.1
T35 0.2 BRE 0.1 302 270 216 0.3
IZH5Y 0.3 BRE 0.3 1,944 - 1,728 3l A M
[2H5Y =I5 - 2,074 — 3l A LL
SPVAITFA 0.6 BRE 0.6 3,132 - 3,024 2l A
SPZAES 0.1 E X 0.1 1512 — 1,404 1 B
E—X 0.2 BRE 0.2 — 2592 — 2l A
ZTHEDH 1.1 BRE 1.1 1,620 - 1,296 4f A
MrAL& 4.1 E X 2.9 1,944 1,890 1,512 5 M
[ESARYONS 57.0 £ % 10.2 — 1,620 — 10] vay 3L
&N 0.1 =l 0.1 - 2,970 — 5] A LL
AL 2.0 "5 & 1.1 4,644 4320 3,564 10 B 4L
f=FEh&E 31.9 BRE 0.5 — 1,404 — 0] A M
f=FEh&E JeiEE 26.3 2,592 - 2,268 20 L
A1z 1.0 "5 & 0.7 1,944 1,836 1,728 1 B L
5oELD 2.2 BRE 2.2 5,400 4860 4,860 0] A M
EBLEIN 15 B X 0.7 - 1,728 - 4
HELLV=IT 1.4 = 0.8 108 108 92 0.1 A M
ZDEET 3.9 £ % 24 39 39 29 0.1 A
ZDEET =M 0.8 39 35 32 0.1 A
L&HL 1.7 12 [ 1.6 97 97 81 0.2
ESES T 454.3
B=

o fm B & E th = E hfE =7 & £ B
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() ATT=®) (M) (M) (M) (kg)

*—JIL 1.0 B A 1.0 — 3,240 — 10| 7hva L
HEDHMNA 1.0 ERE 0.8 2,160 — 1,728 10l vay L
HE2HMA E X 0.1 - 216 - 2
[Fox< 0.1 BRE - - - PR
IEo&< B X 0.1 - 378 - 5
LEY 1.1 TA)H 1.1 9,720 — 9,180 17 115
INLUYVT 1.6 TA)H 1.6 8,964 7,020 7,020 17 88
L7y 0.2 TA)H 0.2 6,588 — 6,480 15 48
BR 5.7 BEIR 1.1 - 1,944 - 10[ 7h¥a L
BR T 3.0 4,795 4,795 3,888 10| Mty M
HEE 1.9 =0 1.9 — 1,944 — 10 vay L
Lo 2.8 BRE 1.1 — 2376 — 5/ A LL
Lo B X 1.7 1,944 - 1,836 5| 7hv1 24
HmohrAED 0.6 B X 0.3 - 1,620 - 10 L
=ADA 1.0 BRE 1.0 3,240 2,700 2,700 5/ A LL
YAZE 9.2
PEFE=IAN 2.0 5 & 2.0 — 5,508 — 10] vay 36
AL 6.1 "5 & 6.1 4860 4212 3,618 10[ 74v1 40
% 0.6 "5 & 0.6 7,344 5,400 5,400 10[ bty
Uh 0.1 BRE 0.1 — 486 — 04 A L
W5 5.2 BRE 3.3 378 324 324 025 A LL
AOVEF 3.3
7—ILR 0.7 BRE 0.7 4536 3,888 3,888 4| 7hya 3L
ZRAOY 24 K B 1.0 2,700 2592 2,376 5| 7hya 6
FULIVAEL 45
ERRY 2.9
INFF 13.9 EYEY 13.7 4104 2,970 2,722 15
NAFyFTIL 25 EYEY 2.3 3,348 2322 2,322 10 7
FoA4T)LY 0.9 —oT 0.7 — 4,860 — 5.8 30
RERET 57.0




